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3 The main topic of the text is

a) punishment for criminals.

b) changing the way the police work.

c) the number of crimes in the area.
4 Where does Sandra live now?

a) In New York.

b) In Hull.

c) In Lincoln.

5 Christine is Andy’s
a) mother.
b) wife.
c) aunt.

6 The speakers are talking
a) at school.
b) at a family party.
c) on the phone.
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o Przeczytaj tekst, z ktérego usunigto cztery zdania. Uzupelnij luki 1-4 zdaniami a-e, -

tak aby powstal spéjny i logiczny tekst. Jedne zdanie nie pasuje do zadnej luki.

a) Not thousands of dollars or euros.

b) The 2010 competition was the most exciting for many years.

) One thing about it is very different from other professional sports competitions.

d) The number of shots taken is not important.

e) Another big difference is the crowd. .

The Ryder Cup
by Tina Woods

The Ryder Cup is one of the
most exciting competitions for
golf fans. It takes place every
two years between teams from
America and Europe. 1
There is no prize money. Perhaps
this is why it is so popular.
Fans like the fact that the
sport is all that matters, 2

The rules are a bit different to
normal golf matches. In golf,
you usually add up all the
shots you take over 18 holes.

The person with the fewest shots
is the winner. In the Ryder Cup
the players win or lose each hole.
3 . There are eighteen holes
in a normal game of golf, which
means that when one player
has won ten holes, they are the
winner and the game stops.

4 Normally, golfis played in
silence apart from polite clapping
after a good shot. In the Ryder
Cup there is cheering and booing
all the time, even during shots.




